AXHRERR - AfHENY T TERIEER - MEAXAHERERE - LA - SIEHAXHER [&E] —& -

B 8% = ARBREZEMBEER

I B PR AS T AR S ER — P AR 23 ] T FR B i HAFE A Il K 2 B
W5 1T (25 vt B 5 B i F) A B0 [ it R 77 ) 09— i 7 - B A AR I8 F i B

2O

@o

RAETH RN 5 1 T A RS [ B B — BT R ARSI ER — P [ & it
i | —pF P

A, AEBRRELEABRBRLEERERR

DATR Z MR CE LR D 565 4. 29 o fim SR B0 A B Bt A Ak BOR BE 3R A 25 AR A Y
EEFHERE > SISV [ARE] M EAL ST E 122020479 H 30 H A AlHEA NG AS
EHG AL EEFENZE > MR LEARLEITE R H e -

A AR B R K8 A M 5 KR B G Y S (R 5 ) PR T e S o DR ARG
HAR WA WA [ 4R EE ] S E AL EEAT 2 2020489 A 30 H AT A A€ H 1 58 LAY 15 DL~
AR 5 A Y E I DL ©

R02E
RANE 9A30H
9A30H ARAREA
NGE 2PN EEREE 8k
EiEEERAH CRIEEY FEEAR  REBLEZLRR

RREERE" MEREFEY  BANYEY  APEERE RRVEERE
ARHTE  ARETT  ARETT ARKTR AREY #r?

BRI RN RS

TG 102,133 (5 (5] (5] (5 (5
W ERM RS

TG 102,133 (5 (5] (5] (5 (5

-1I-1 -



AXHRERR - AfHENY T TERIEER - MEAXAHERERE - LA - SIEHAXHER [&E] —& -

B 8% —

wat -

ey

2

(3)

C))

(%)

(6)

202049 A 30 H AR Al HEH N MEAL 83 4% & 0F B T2 & 2 I (B4 8% B AR SO Bk — BT il
TRl > T5LL2020479 H 30 H A2 WA A AL A8 52 B 48 535 4% 5 OF B I E N RV
103,535,000 7T 44 #4E > 5202049 A 30 H B ML & E A K% 1,402,000 7C 48 i 2 5 -

it £ 2 [ 4 58 1 B0 (4R B8 P 15 TR 0 ) S MR 1 e [ A 3R 19 o0 M [ AR BR 1V U I 5 T [ AR 3R
RS DATERAR S ) E AT I A 5 (4R B S FLAdAR Bl B S > ELSIG S G S AR SO TBEAS | — B e
AN TR T #8847 2 ] Je 003 ) — JBCASE M T RE B A g [l PR A AT B A o

EREHN—F5 > (1)R2020F 10 A > M [ 4REE ] HT 85 & & Pl i — 0 5 il ) AL B &
8,900,000 7C > (2) 420204 11 7 » A {3 Rp R LA (E A R ¥5 55,800,000 78 1 T %
B 95% M HE o SRR H AN B ORI F o ©AE I R DU 20204F9 30 H 4%
1 Bk 22 5y o 4202049 A 30 H#E4T ©

o P R K A% 5 K R A TR S V(LT KSR A BT R AR - 1R BT (AR B B R
AR RSB AR EAT TR 2020489 30 H FE R » MEAFEBA SR [ A | — i By
AN FRGE IR T #8478 ] FR 3 1) — A5 W ] R B B [ P9 A ] A Ay o

ARG CARALEEFERETN S - AR EI 045812 ARH0.8346 050
1.007 JT Y HE AR5 A TT « MUK AR SO A~ AMESA] BE & a% BE A 540 2y i e
[ Z IR

B b SCHER 2 5 MEEFF th T e B 2020460 1 30 H 457 5 10 -0 32 55 s H A
55 -

-1I-2 -



AXHRERR - AfHENY T TERIEER - MEAXAHERERE - LA - SIEHAXHER [&E] —& -

B 8% = ARBREZEMBEER

ECE Y

- 1II-3 -



AXHRERR - AfHENY T TERIEER - MEAXAHERERE - LA - SIEHAXHER [&E] —& -

B 8% = ARBREZEMBEER

ECE Y

|



AXHRERR - AfHENY T TERIEER - MEAXAHERERE - LA - SIEHAXHER [&E] —& -

B 8% = ARBREZEMBEER

ECE Y

—1II-5 -



